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Prove the sine theorem when 4 < 90, B < 90°
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Express the following equation using the radius of the circumscribed circle.
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c=2 R %XsinC a =
sin C = —¢ sinA = —
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Complete the table of trigonometric ratios using the following diagram.
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Find the diameter 2R of the circumscribed circle of the following AABC.
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Find the size of side of the following AABC.
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D2R=2V2 ,B= 120
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b =2 R XsinB
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Find the following formula when the diameter of the circumscribed circle is 2R.
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Find the diameter 2R of the circumscribed circle of the following AABC.
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HIEDO b=3,B=30D ¢ X, 2R %R X, i
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2 R=—; =3+ sin 30 2
sin B
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BIEEG® C=60, 2R=2V3 OLx, cuakdk,

c— 2 RsinC =2Vv3 Xsin 60
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Prove the sine theorem when A < 90", B < 90° PR AR
Th Tk Tt oy 1| /E
5 C o Hi AB IC AR CH 241 <, . e E
CH @b:2«/_ ,B= 135 @b:2«/2_, B =45
AACH 2B W\, ; = L= \ oo 2k b r/ ook b ')m
CHieBWwT, smd= 75 AEMO B R2R%E | SEAOEER %
fffffffff b b
CH = ‘ £ 3P ko k.
ABCH I8\ T, sinB= ﬁ
A —cH ) R——2
e o ‘ sin B
CH =
O ; = 2V3 + sin /35
CH 13 £ 3@ = |
N T oeeeeoeoiieoiioioioieoos ‘ 135 THI
ﬁﬁu%smAXsmB“CilJék o7 e
7777777777777777777777777777777777777777777777777 2V3 B
= — . 3 = 2V
sin A X sin B sin A X sin B
wesa T .
KoL @2R=2V6 ,C=30 |@ 2R=2,A= 60
77777777777777777777777777777777777 b b
| DELXE, chRD L, DEE, arRkd I,
- (= 2R) Q.ED =7 R xXsinC
as‘w@ﬁy;/u br o v i
i N EY AN 2RIZFHL W, =2v6  Xsin 30
RN ED 2 b t')(TL £ ek Lz b
2. AH O E 1 fzﬂﬂﬂ LT, ko akd L, ;
Express the following equation using the radius of the circumscribed circle. =2 Vb6 X 7
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sin C 2 R sin B
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Complete the table of trigonometric ratios using the following diagram. = 6+ sin 45
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Find the following formula when the diameter of the circumscribed circle is 2R
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Find the diameter 2R of the circumscribed circle of the following AABC

PR A b &
BIEED c=2v6 ,C=150 DLt %, 2R% KDL,
2 R=—5— =2V% = sin /50
sin C
= Vbt =0V x = uh
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HEO a=2V3 ,A=150 DLt %, 2R %k L,
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BIEG ¢c=3vV3 ,C=12000 ¢t %, 2R%ZKD L.
2R=—5"—=3v3 = gin 120°
sin C
_ L V3 2
= 33 = 5 = 3v3x =6
b N b &
G a=2vV6,A=120D %, 2R %KD L,

3. % ® AABC 1= 5

?ﬁJ%G) C=150, 2R=6 O+ %, cfz%%&boto

c— 2 RsinC —6 xsin/50 =6 x —— =

b= 2 RsinB =2V3 xsin /35
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Prove the sine theorem when 4 < 90, B < 90°
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Express the following equation using the radius of the circumscribed circle.
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sin C 2 R sin A
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Complete the table of trigonometric ratios using the following diagram.
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Find the diameter 2R of the circumscribed circle of the following AABC.
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D b=2V3 ,B=120

b
sin B

2 R=

= 2V3 +sin /20

= 2V3 =+ —/23_
B 2
= 2
= 4

D a=2V3 A= 150

o C
2 R= sin C
= Vb + sin 45
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@ a=V3, A=45
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Find the size of side of the following AABC.
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D2R=2vV6 ,B=45
DLE, brRDL,

b =2 R XsinB

=2 VEx
= V/2=2_V3

D2R=2V6 ,A=60
DLE. arkidl,

@ 2R=2V2 ,A=60
B=175 Ot %, c%
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C =720 —60 —75
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Find the following formula when the diameter of the circumscribed circle is 2R.
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sin C =2 R sin A
c=2 R xsinC a=
sin C = ¢ sinA = ——
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Find the diameter 2R of the circumscribed circle of the following AABC.

PR A b &
BIEED c=2v6 ,C=60 DL %, 2R %k k.
2 R=—5 =2V + sin 40
nC
B . V3 2
FL é@ a=2V3 ,A=120 D & %, 2R%§§&)oto
v e HL
BIFE® b=4vV3 ,B=45DLr %, 2R %KD L.
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sin B
45°THEID
= 4\/_—7—4\/_X \/}2_ = b
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MHHEQ o =v5,A=135 D L %, 2R #:Rk® k.,
L b &
BIEG ¢c=3v6 ,C=300Drx, 2R %KD L,
2 R=—5—=3v6 + sin 30
sin C
= 3 s —— =i x ——= &b
F'n é@ a=2V3,A=150 ® & &, 2R%§§&)oto
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ik
WT %@ Z X o Answer the following triangle ABC.

?ﬁJ%G) C = 120,

c— 2 RsinC =2Vv3 Xsin 720

2R=2vV6 Ot x, c%éé&)oto

— ,z\/_x‘/_ =Vig = 3vV2
i% é@ A=60, 2R=V3 DL x, a%%@&boto

PR A
BlE® B=135, 2R =2V3 Ot x,
b= 2 RsinB =2V3 xsin /35
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?ﬁj%@) C=150, 2R=6 O+ %, cfz%%&)ot

c— 2 RsinC =6 xsin /50 =6 X %: 3
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HE® A=230, 2R=4vV3 OL &, az kL.

BIE®D c=v3, 2R=VB DL %, sinC %K L.
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L b &
BIEG b=3 2R=2V3DOLrx, sinB %k,

GnB-—3__ V3
2V'3 _ 2
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HEG a=2 2R=2vV2 Ok x, sinAé";é??’)oto
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Find the following trigonometric ratios using a right triangle.
ey bAED
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Prove the sine theorem when 4 < 90, B < 90°
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Express the following equation using the radius of the circumscribed circle.
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sinB 2R sin A
b=2 R XsinB a=
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Find the diameter 2R of the circumscribed circle of the following AABC.
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D b=2v6 ,B=120
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2 R="2B

= 2Vé6 +sin/20
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D a=2V3 A= 150

@ ¢c=V3 ,C=45
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Find the size of side of the following AABC.
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D2R=2v6 ,B=30
DLE, brRDL,

b =2 R XsinB

=2 Vb X

= Vb

D2R=2V3 ,A=45
DLE. arkidl,

@ 2R=2V3 ,A=45
B=175 Ot %, c%
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C =720 —45 —75
=40

¢c =2 R XsinC
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